Z8g

000°0L+0L

¢8S

000°0L+CL

CORTE | COTA | o o [CORTE| COTA | & o |CORTE| COTA | o o o o [CORTE| COTA | & ¢ ¢ |CORTE| COTA | &
ATERRO|TERRENO| & & |ATERRO|TERRENO| & @ |ATERRO|TERRENO| & & @ & |ATERRO|TERRENO| & &  § |ATERRO|TERRENO| 8
= 7 — DOUTTOT 0T O DOUTIT o [l —
580,62 o & \ 580,88 - & \ - 580,894 \ = 50,947 = 580,92 = &
- 580,98 ~ 561,00+ - 581,05
038 | 080.853™ ol 031 Fs81047" o| 026 Bk [0z e _[To19 Fs81,169®
& X <@ - 581,19 - 2
- - - N - (] _ ()] -
07 [ 586.885° g oar [ 28118° o 034 _§§H§-° o[ oar | 281267e | 030 981,320
= Q S 581,22 S
= 580,86 4 = 581,00 4 - | -
0,35 N 0,23 ™ 0,20 ™ 0.16 N o5 | 981,23 M
L 580,79 -] C gg?,g‘é: 581,04 581,13 - — 581,18
0,24 1= 0,40 Sl ha 0,37 —gg*ggzk oo T 281149 0,13 1=
~ ggl.28- — | set.80 7 peetsa S  bggags- — eghgds
; g g ; g o 6adgi= | N , &
S ) S ) o S Y] ' )
0,16 | 584,06 | \\
584.35
’ [¢)] [¢)] (6)] (6)]
[ee] (0] (0] (0]
o N B »
CORTE| COTA | & o |CORTE| COTA | o o |CORTE| COTA | o o o |CORTE| COTA | & & o |CORTE| COTA | o & o
ATERRO|TERRENO| & R |ATERRO T§§§%§O 8 R |ATERRO[TERRENO| 8 8 R |ATERRO ngglaéo 8 & & |AERRO|TERRENO| 8 R R
| cen'an | - 580,66 - - 581,98 e ’
886:88 \ 581,00 & \ Ja s &
L _ -582,14 —
_2311’12%:.;, _EQHQZII\’ = 281,780, = 581,815y, ur
) - ) ) ’ ) )
0,12 ’ 0,10 _ [ 028 981,787 | 030 REE
? — 581,31 = N N
+ + +
_ = - o - o ] - _
034 _2312?1_0 ':‘,1 032 _gg:]l,isz)_o o 581,90 Ho Srosr 581,950 o 582,26 Ho
& ’ 8 - 581,97 - S - 582,03 P - 582,30
0,17 " 0,18 " I 0,33 ™ 0,35 " 0,52 "
, 18 | eg4 40 , , ,
—581,32 - “ 581,40
581,29 =~ =E = EN N H N
0,16 ’ 0,15 [ 981,337 0,08 F 281487 0,06 | ] 0,38
: 584,33 : 58435 o F83hE8s : 28172 p © 582,14
’ ® ’ ® X ’ & 8 &
S ¥ S 584—,39—-03‘_,1 o o S [N) i o H
oo (0] (0] = s =
o N S o o o
(0] o0 (02
o N BN
J & & & &
CORTE| COTA | & o o o |CORTE| COTA | v & o o ERFOITERREOl® S ® & o
Ies) Ies) ® co oo o) o co "~
ATERRO T%RRENO 8 8 § & |AERRO[TERRENO|E 8 R B | 57916
S ES SES 15
1,00 [ ]
- 269437
iR s L 581,43
0,50 ~ ~ [ 055 ~ _[ 055 ~ o
N w (_'a_)
582,30 4o X 582,27 4o S 581,52 Jo 3
0,57 : 2062 : o| 058 : o
S > oo o o
T2 ~ o o
S 582,38 {r © 582,39 <n 581,59 -{no ©
LIS 0,60 ’ 071 |-582414 0,61 :
N (F - 581,41~
c o v
22 |2 0,50 ™ 0,63 1" 1,01 ‘22%’8?“
8l |2 7 L 582,41 ’ 01 -582,37 4
D = (=]
H [EE | 1 L 582,43 =
58 |12 050 582,354 0,60 * 0,91 @
= NI | 58242 - 583,46
_g o 5 Joo oo —582,46:°°
g g’ 3 : 024 [ 982,615 1 0,64 0,59
4 (RIS - 584,23 N ~ 582,75 1
N IE ] = 585,114= 584,28 <{= C 9 o=
*llz || ° \ 0,68 | 585114 0,54 ‘ggﬁg—o
N 1K) =4 g Q
; % E E VOO0 g g g g
sle (|2 S ) X 1) 585-60— =15
o (SIIES i g g g 2T F88sTas
~ o o N N »
x| [ 2
— [N 15
=l =2 gn 0,08 ‘ ‘
k] [ 58582
- || & ’ o )] )] 9] 9]
%] Qll= ~ [0} o0 (02 (0]
N = oo o N B »
[N 8
2
5z2853358 2
JErrnzesy) F
5 gz $o5a Fodl| ® CORTE | COTA | o o o | CORTE | COTA | ¢ o | CORTE [ COTA | o o
SREYANC: 2 b o) o) o) 3 G N 3 o]
5 235288 E%E‘ = ATERRO|TERRENO| of & 8 R |ATERRO|TERRENO| ® |ATERRO|TERRENO| 3 & &
8|l g||923855505( 3 ’ ELLE 579,02
) ﬁ Py 'l_'nr'.-.%r'.-.gg g _58011:4& _579’77_4'& — ’ :L
sl 2||23552. 88 || o8 0.2 ! - 879
N arr080° |22 ~ 581,051 - 580,41
oll= ||[FzeR2"Zn ||B3 = HR K =
21s [|[#2ee797R ||y 0,52 L[ 052 | 043 N
5|8 [ca2sg2ah |58 @ a o
= 2233882 ||¥5 - 581,26 — * — 580,60 + — 578,49 — +
N CETIEQRS LB 58128 -lo 3 580,62 o < 578510 )
3 |[3%38855, |26 0.64 o 6 L 58065 g| "% 57846 8
8 D-DRRRIF ||sc 581,33 D o =)
5 RORRIGNT || ol 4N 580 53 4™ 4N
E] DL B%RA [[oa 0,52 0,57 [ 9°V99T 0,38
bl o TR S I N D o 578,37 1
2l o dl|csewNang & om 580,98 — ’
Sl % S||© 3g & 0 u ! - 580,25
o|lg7|8 8% 3 |85 0,72 1% 0,40 T 019 F5878783"
= ' g b1 — ’ —]
w8 e v & 15y ’ =582 35 = ’ - 581,64 1 ’ E70°10
2‘ | o - g 0129 A C\‘TI g E T I T & C\‘TI ﬂ g
7 v |8 ES ® X 582.54 - S o o © =]
glle m 3 i<l o~ ®
g ls 0z ®
glle ||[© ¢ =
D w 3




